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‘*'”‘“ﬁﬁ s ]E LLU TJF J&l!ﬂﬂuﬂ nres
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e (Written)
0l. 2x*+3x+5= Dﬁwwumwﬁ%m{%mwmﬁwﬁﬁﬁam

a®+p? (u+ﬂ33~3uﬂ(a+ﬂ) ('—) =3 ”"( ) “ “ 63

. — 3.1 .31 _
W-H+B- EIU'B 9 ’u3+[||3 - u3ﬂ3 = (ap)? (_) -1%5 125
1 1 __ 1 _ 8
TKF_(E)E__"E
-, et @i X2 —Ex+E—D:>125x3—63x+8=0(ﬂﬂ5-)
*02. Wﬁﬁﬂ?ﬁi: (12 + 22) + (1% + 22 + 32) + ---up to (n — 1)terms.
. . (n+1)(2n+1)
T S+ 12 = 12 4 (12 + 22) + veve Uy = 2

=S+ 1= p2EED _1 92 4 n)(2n + 1) = ; T(2n® + 30" + 1)

6
_ . .nI{n+1)2 . 1 n(nt1)(Eas) 3 1n(nt1) | i 1 'nz(nH)z + n{n+13;2n+1} A n[r;:ﬂ -1

3 4 2 & & 2 3 4

03. JiYiad Y Mg 98 1 — 2 sind = cosH

. i — 2 i ] — —1- -— =
HAHS: cosf + 2sinf = 1= ﬁcnsﬂ -+ rsmB == cos(6 — o) ::n:u

0 =2nn+ 2a; 2nw TATA, o0 = €cO5™ 12 ﬂﬁ.—f—cusu ..sinut:E
04. aﬁﬁ‘mﬁﬁ’ﬁrﬂﬁﬁaﬁw%ﬁwaﬁﬁwmﬁwmu—yﬂ=0mﬁmmﬁrﬁﬁﬁmﬂﬁ

I

LEIEIEH SA—a—m=

¢f3, MFrs Nt x—y+ k=10

%ﬂmm,mcﬂwﬁ@mw%—n—zﬁ_ﬁ

k=2 -FerraieRdix—y+2=0

- fdf lieas {(x — 0)2 + (y — 0)2}(12 + 1) = (x —y + 2)* = (x +y)* = 4(x —y + 1)(Ans.)

05. (mﬁtﬂawwﬁ@ﬁn
vx 1dy _ 1 1 ‘1
Ay = (\E[) I::»lny=\&-1"’\/§ _;;di—zﬁln\ﬁ-’rﬁ rﬁﬁ

\s x=1
(R (v & g ) = (R4 1) = 5. (V) R+ )

=;_(\GE)‘F . (-Elnx+ 1) (Ans.)
06. crtE fAdrFae [x*(In x)zdx

2nx x4 _ ﬂ(]nx)? — = [ Inx. x*dx

2 1 3
=? (lnx)Z-—;[-?_— nx—f;?dx] =?(lnx)3-—--—-lnx+5 3 %+c—— (Inx)? —%xa(lm{) +%+c(ﬁns.)

07 gl il eI PR T W a2 ypiE 20 2k 5 ERere e @ offete e B ST AT
2aCE SIFiB 10 2% Twet [FE A6t afeqms <IN o Ae?
o
E

HAIY|: Here, F.BD = W.BC
BD=T'—h; BC? = UBE _OCZ = pé —(I'--h)z = 2rh — h*

W.i/2nth—h2
l‘.i F }I rn: 3 (]
wa/zrnh—-h? w,j_ %x20x10—-(10)2
" Frain >— e = W+/3 (Ans.) \/

+ W /3 STors [y & 39 STl 900 1 L el 99 W /3 ST @ 20 |

?B 189 ﬁ ’%1% AT ST R8T STBeT, .




SN IETS AT Zro7 @, v = v/2x9.8x10 = 14ms~?

142 -2

IR (ooa TWA F T, 0 = vZ — (2fx0.5) = f = -— = 196ms"
5G4t R 0T, R—mg = mf .. R=mg(g+ f) = 8(9.8 + 196) = 1646.4N
x09. 1239 MAIBE BT HediT FoieT T4 Q3L ofe B F1

FAAYI:

2 [1239
2[615-1
2[309-1

2 [154-1 Now, (1001010111),

21770
2 138-] = 1x210 4 0x2% + 0x2% + 1 X 27 4 1x2% + 0x25 + 1x2% + 0x23 + 1x22 + 1x2?

22 13-;3 =1024+ 128+ 64+ 16+ 4 + 2 + 1 = (1239),, (Ans.)
2141
22-0

2 [1-0

0-1
- (1239),, = (10011010111),

F

10. 9 RO W« T GB> IH @5 3ms™! T 79 4m a2 @ 4ms=! T4 729 3m.
(a) AT [[RBE @ [ w91 (b) 38%a 97 50 kgicﬁcmwmﬁﬁ%ﬁﬂﬂwu

TYE: (Q)V=0 VA2 —x2; 3=0VA2—16: 4 = VAZ -

9 AZ—16

— = = 9A% — 81 = 16A%2 - 256 = 7A2 =175, A=5 .-.ﬁ'ﬂa:sm(Ans.)

16 AZ-9
L3=0V25-16=2m=1. T~———2:r:—6285(An5)
(b) E = > ma?A® = %xSOx(l)zx(S)z = 625] (Ans.)
1. PR SO 2RIF Gf6 LTS S ST AR S 25: 4, A0 Fewra vaw g @ w4 @ L=
THre g

I ] oca? - L=2

[« a

=

25 |2 _

|t

& ”az

B

Ai4a» 7 Ima_]: (5.14"5.2}2 9
r =—-= = =—, 1 3 | = 49:9

12. -9 O Gt TAR e M6 TFOEF 5 km/s TfSre Berwed T3t 2011 7o B fraaa 1s w-op e 77
%W?TWETWWI [ﬂrﬁﬁ"ﬁﬁ = 6.0K1024l{g WWE == 6_4;.{1[]51-“, G = 5.57}{10—11Nmz/kgz]

ST ot 08 MR = FoE: S mv? = GMm [ 3 dr = o= [ = =2

2G 2Gm R X
1 vZ 1 {SDDG)I

P - _ — -7 . — 6
= X TR T26M  eaxiot  zxeerxtotixgeiors . 400156x1077 5 x = 7.999x10°m

. h=x—R=(7.999 — 6.4)x10° = 1.599x10°m
13. aﬂﬁ@%ﬁﬁmﬁmmﬂmﬁmwmmmﬂmﬂmm@m@%mwsumaﬁﬁﬁ?%

1 #it5 G =17 @it 2700 F1CT &fS A #ite v courerry IBH Wy W3 77 #3e Rda a1

CO - (i Ay _ _e™ 4750 _ a=AtA(t+5) — o5k — In (4759
IO Ay oMETE) Al g o= @ (t*59) = > 1, 54 =In 2700
~ A =0.1129min™! 4y = 22 = 6.134 min

A

S 100 (8




S Ry + Ry = 40 - . (1) () = R, + === 40 = R? — 40R, + 300 = 0

_1-+.l=L_.,H1+H1_ 1 Ry

Ri Rz 757 Ry4R, 78 =([R;=-30[R;-10)=0=> Ry, = 30,10
40 1 . :

:”nlnf?.s—;’f;[(’)m] - SfSI=\EE @iy 309, 100

=R;R, =300 R, = %9. SR ¢1))

5. 3.0 mm R 6.0 mm 7 R 45 i wem wh sifiz o TSR e SR aTe 741 ivw fSoa oy
N B B @ v SR ST Ol iR R, (TR &= 7foq 047 T “iidas 92 [Rrwesie Sy s
B 7.3x10~2Nm™?, =14 cpret =y wiae P =i T7g 1.0x10%kgm ]

— Tipghys _ ropgh; 2T 2T 2T/1 1
AN T = “Tinkeanr- Sohy ==, h, = -'-h1"'h2=‘—(—_—)
PETy pEr; PE

_ zx?.axm‘z( 1 1 .
1000x9.8 \1.5x10-3 3x1n-3) = 4966x107°m

16. zocm‘c‘mﬁqaa1cmmﬁawﬁwwwwﬁ?r%wﬁﬁmwﬁemmmmtwweﬂmmmc
CIFHIEl T B AVARE 0°C SINIaR 908 A1 SIS | T 7t I @, &S 5 FAG 25g <77 ot 419
TSR Ot “HfRIEeR woits @@ 991 [qa% St wiesfre H&S1% 80calg=1°C~1]

TE: Q = =221, ml; = == | 1= 80calg~°C~! = 336000 JKg"!

_ mlgd _ 0,025x336000x0.2 e - g
- Aset mx(0.01)2x(100-0)x5x60 ' K=178.34 Wm™K

17. 930 St Saess it y = 5sin(1508 t — 6.28x), AT t YT UFT CILPT GR x I GFF 6| BB
(1) *I8Er, (i) S ovdT @ (i) o ity 4

T y = 5sin(1508 t— 6.28%), ()T =1 =22 4164x1035 (Ans.)

(ii) ? = 6.28 = A = 1m (Ans.) (iii) %ﬂv = 1058 = 6.28xv = 1058 = v = 240.1274ms" (Ans.)
18. o ford p, = 1 @3, = 2.3 6 = 75° 77, 0 g z0o e St s e <o)

0| Mediumay,

MEdiurﬂh,p'u
0
- 1 e P‘a —_— 1 S - (] — o G Mﬂdium B.,j.la .
TN sInQ, = === gy, =L =5 =sm30°=0; =30 th 0. <8
d
6l @6

<. ST S TOrIAl SifSTE W6TF IR SRR [Rrewetas AR 75° @i 303 b T (TS SR

TR (Written)

19. a5 9y @y fRfdFam SdRfea (t%) W 15 011 50 981 <17 [Rferaes oo gt ofifrs Q@@?

0693 __ ., 0693 -1
ST S/ T (IR (0, ty = == = K= 75= = 0.0462h
2.303 a a_ _ 50x0.0462

W’Wmﬁ,}(=—rlug;:ﬂnga_x 2303 1
Slog=1=——=10=> —-=a—x .93 PN 9fifEFe Y@E

a-x a—x
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20. 40°C ST W32 787 .15, <% 51T

2KMnO, + 16 HCl = 8 H,0 + 2KCl + 2MnCl, + 5 Cl,

T . 16 mole HCl = 5 mole Cl,
' 16 x 36.5g. =5x71g

9.41 gm HCl (03 Brofy =~ = 5.72 gm Cl,

4

S5l SifH, PV = nRT = ERT Here,W = 5.72 gm
— v = WRT _ 572x0.0821x313x760 1 _ . (Ans.) M = 71gm, T = 40 + 273 = 313K
MP 71x78B7
P= % atm, R = 0.0821 L.atm mol~1K~1
21. 300 ffsr 0.2M w9=t@® NaOH B39t 100 fife 0.1M 99w H,S0, F=A0! S exifie $4f 201 S<M8 NaOH
B gt 5y =9

AAHF: NaOH a9 @i 7 = 300x0.2x107° (q = 0.06 GII&T
H,S0, 99 15 2 = 100x0.1x10~3 ¢S = 0.01 (=

0.01 G H, S0, & &ifire ate 9 S{faw1d = 2x0.01 = 0.2 (I
. It NaOH 93 «ff=iet = (0.06 — 0.02) = 0.04 (=)

0 6 «ifiwiet = (300 + 100) f&ifer = 400 fAife =i

- NaOH @9 9@l = ——— i 519 ' = 0.1M (Ans.)

400x103

22. (I) 6 e 9IFore Kl @9 TEE 599 932 oRBre KCl O Tld 539 Stz %3¢ 4t fFeng wiwe Faa?
faferarz ferd |
TIHYIR: B0 7Y HNO; Q@5 I FOIAIA 217 SITS FES ot AgNO, T3 (T T4 -1 I M1 YT T G
NH,OH %9t Udhg® ¥ ©1F Qaed KCl fRmysi =i % 25w SI4erso) 2t 99 ¥t NH,OH WHge 23 ©rd B30
KI {77919
KCl + AgNO; — AgCl (STW! SI45T%t) + KNO; ; KI + AgNO; — Agl (7 SHTF41) + KNO,
AgCl + 2 NH,OH — Ag[(NH3),] Cl+ 2H,0 ; Agl+ NH,OH — No Reaction
() 4o7 srafeR-9 @ [ s SfErem e e fiffe sw g st @ g @972
FATYE: He S7157 SRS e [ 19209 390 2, AR «ifveet sjiea &)
23. ¢ fafeFar smafoq TRy (rine, fFSita MnO; FISH WYY S032 SFA wifve 0 | 4 [feFfe for
T [[{er=et S4fR_fEFae 2Mn0; + 2e~ = 2Mn02™ -« -« (i)
erge SEfRfEFars SO2- 4+ 20H™ = S02™ + H,0 + 2e™ -+« -« (ii)
()x 2 + (ii) » 2MnOj + SO%~ + 20H™ — 2Mn03~ + S02~ + H,0
24. o et e Ags e

I ¢
—-C—CHj ' ﬁ’ HN-"’ C\CH
@) <O pHo~O)-NCc (g L b
(STFIR) . ﬁHﬁ 0" > ’lfl g
el
HZN\CJ" N \C /NH:

I |

Afqaqeria ey Favg AA9qveT,,,
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25. (%) e @ qwibw QWWWWWWWW? wors Rfdrtfon = 57
THIR: ST AR e i e ez el wars 20 | SRR QAR STt RifiFa 0 soteae srige

Feeor coftt 1 A1a 1 pots R = Rrcse s Qe

CO-CH;
3CH; — COOH + PCl; ~ CH; — CO — Gl + H,PO, @ + CHy — €O — €1 — + HCl

(J) WWWWWWWWF@T GF T (SpEiEG) e Rdrsar=a?
FA: = TR S Ca #7et, Mg-oraet Ziifiy Wit | G0 T4 Ca-o1aet @ ~ARIet S Gt 1 =Hfee =aget
@ a3 i @RSy wram fot art =@ EDTA a7 it BIZEE I Ca-waead i Ay <=0 I =

A SEIERGT T
26. () SRR AT By
ST SRR Gq SR K'——-PZE-%:HE-%
K=39&F P =g 7 Rm « A = soimefas 99 2 = 9479 E, = i &
(}) SISTHH 3[q ATAT A @ B AT W B0erd qoI519) @ T2t o
FTNH: . Py = Py + Py = Xa P2 + XgP?
(°1) R T ST &0 SIeid ST FAae’ &7
e (P +53) (V — 2b) = 2RT
CEACERGELAGET
AAYA: @32 *ET=m RSy RO TEEAoE! 9Tl SKEH A0 @ Ol T4« sge) s=&gm

QIFTS ANTH | 92 TP FCARGASTET P IR T | |
27. (I) o F/AYT s — 5,5 — p G2 p — p TG WA FCA B9 (0) IH oow1-«7 &Afeemt e |

" S-S oI S—P C 9% P-P G I
(%) ST ZETRGA I 5 S Tromi 7t Sromar? I orane |
IAATYIT: ORI | @R GF6 HAGS SAAD [0 HfigT YR Jremny wimre [e9s Iw [Jara ole e

TR | O U & 2 F90° J|

xiafer (Written)

Read the Following passage and answer the question numbers 28-30 that follow:
The idea of television first came into the mind of a German scientist named Paul Nepkow. With great effort, a

Scottish scientist named John Logie Beyard invented the television in 1926. Television technology has made a great
advancement. Even watches with TV facilities have been invented by Japanese scientists. Videos and computers are
also attached to TVs. The word ‘tele’ means distance and 'vision' means sight. So, we can see the pictures of far off

places through photo-electrical process. It has likeness to movies. We can see people talking, reading news, singing,
dancing, acting in a play and reciting poems on TV screens. TV can receive pictures from the farthest corner of the
world and even from the outer space. The whole world comes to our homes and we can enjoy the live telecast of the
news or politics, scientific inventions, discoveries, sports and other important events of the world like Olympic
Games, World Cup Football and many other. TV is a medium of mass communication and learning. The film shows,
drama, and a variety of other shows serve the purpose of good entertainment. At present, Open University’s informal
and formal educational programs like the SSC (Open), B.Ed. and other vocational skills, training, etc. are helpful in
propagating education. ‘Mati O Manush’ and other such instructional programs are teaching the youths to be self
employed and self-reliant through horticulture, pisciculture, dairy, poultry and other beneficial and profitable
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projects. Television has abuses too. Children, being attracted by the programs on television, neglect their studies,
Sitting very near to a TV set may affect the eye sight. At present, through the dish antenna, many programmes can be

viewed by the television viewers which are polluting mental thought of our youngsters. Our customs, culture and way
of life are also adverscly affected.

28. Indict, whether the following statements are true or false. If false, give the correct information.
(a) German scientist Paul Beyard first thought of television. (False)
Ans: German scicntist Paul Nepkow first thought of television.
(b) Television is an up-to-date means of communicating the thoughts and ideas. (True)
(¢) In fact, television is the combination of audio and visual methods. (True)
(d) Television is only a source of recreation. (False)
Ans: Television is not only a source of recreation, but also a source of learning.
(e) Dish-antenna has no negative sides. (False)
Ans: Dish-antenna has both positive and negative sides.
29. Fill in the gaps with the correct form of verbs provided.
(a) Finally after a great cffort, tclevision was invented (invent) by John Beyard.
(b) The television has (have) educative values.
(c) Sometimes TV Programmes are arranged (arrange) for students.
(d) It is (be) one of the most powerful mass media.

(e) Sometimes some unscrupulous television companies display obscene and objectionable scenes which should be
avoided (avoid).

30. Fill in the blanks with appropriate words to provide some information about television.
(a) Television is electric device to receive pictures from distant places.
(b) It carries over photographic picture along with voices to the farthest corner of the world.
(c) 1t serves the purpose of our recreation.

(d) After a day’s work, sit in front of a television set and enjoy songs, dances, plays, sports and games.
(e) It is recognized as a blessing of modern science.

sifte + AR + T + &S (MCQ)

01. 2i—3k i+j+k =33 qfoq 949! @19 T3-

(a) sin™* — (b) cos™? = (c) cos™ = (d) sin™ —
FAAY: (c) ; 0 = cos™? (ﬂ-j%ﬁgm = cus""L%cus'l ;Tla
02. (2,3) RIS 4x + 3y — 7 = 0 @R ANCATT ASRT 772 g F©7?
(2) 2 units (b) 4 units (c) 3 units (d) 6 units
ST (b) ; (2,3) g (AP 4x+3y—7 =0 mmw_f‘jﬁ_::’ = = = 2 units.
- ffSRTgavag2x2=4
03. costan~?cotsin™x G H FS7
(a) —x (b) - —x (c) x )5 +x
HAY: (c) ; cos tan~? cotsin~ x = costan™! cotcot™? 1;?“2 == -
Fig-1 Fig-2
= costan™! i _ COSCOS™ * X = X,

X
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06.

07.

08.

*09.
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11.

12,
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I‘:':"'_!r--_| k -.! -F- .'._ ; L i \
£ rh ':::'- q

SN
LS

W tand = E@, AT X cox 20 + y sin20 G T Z3-

(a) 2x (b)x +y (©) x—y (d) x
2
HAAY: (d) ; x 2 . — , 1-tan?0 2tand _ *\1=% ) 2% _ X(x®-y?)+2xy? _
) C0520 + ysin 20 = x 1+tan? 0 ty 14+tan?0 1+£=_ + Y;Ef; X% +y? X
X X '

i/x+iy=p+iq€tﬁ§+§awmmﬂ

(2) p* — q° (b) pzjqz (c) 4(p* — q%) (d) p*-q"

AN (€) ; x + iy = p3 — g1 + 3p?qi — 3pq? . x = p(p? — 3q?).
s >=p?—3¢% y = q(~g? + 3p?); 2=3p"—q* ~o+I=40"-7")

x2 x 2
X~ (I (PN M o0 fgRe Rfmas wmsw=z@? (2 1 1
0 0 -5
(H.)K=D,—2 (b)x=1,2 (c)x:ﬂ,'l (d)x=0,2
x2 x 2 5
YA ()2 1 1 =_5|x K|=0:;.(xﬂ-23)=0:>x(x-—2)=0.'.x=0,2
0 0 -5 2.4
K-99 @1F WIte &5 ufeiRs silteae caeba sepean Juiye fmmm? x —y = 3;2x— 2y =K
(a) —o < K < 0 (b)K % 6 (©K=23 (d)K=6
i _1_—1_3 .
AAYE: (d) ;5= =-=k=6
Vi+ V=i 97 IF T2
(a) V3 (b) V2 (c) 2 (d) 1

TR (b); (Vi+ Voi) =i—i+2V—2=2 o vVi+ Voi=12
& firE AfSSIT 410 S 2IT@F T4T 240 T HI @92 180 &9 e ©Fl Btz I 25 &9 X9 @9 ©iFt |t

e, o T© o Toy Sl RtR?
(a) 205 (b) 265 (c) 35 (d) 385
SAEE: (¢) ; n(s) + n(F) —n(SNF) =410—25 Or,240+180—-385=n(SNF) Or,n(SNF) = 35.

G (FIICB B I IOT GO 7 8 e X B 21 o ¢ WEAR SIEA MG TSR JAUFCT - €
| ToT S A AN TSI F©?

(a) % (b) '.E (c) 34/35 (d) E
STAYI: (b) ; 27T AT AR T = 1 — = = =, TR AT AR TR = 1--=2.

.-.%EMWWWW:EE:E.

GEE T O LT T afs AP AE @y GIB (@I I FAE | O Y @ FILH T b1 [FeId S IEEIS)

A7 [Ans: C]

(a) R o< x? G)R o = (c)Rnc-:; (d)R « x
ﬂWW@HWWﬁWW4WWW@&WWWSW@WWIWW

NS $©7

(2) 5 (b) 4.54 (c) 4.44 (d) 4.50
A () : S = 4t, =>t, =5; t, => - V=g5=r11= 444
(c) 1 1 =77 253 % o1
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21.

-ﬂ_m PR ((f

1

{1 :u'; i ?
/ é“""ﬁ*‘"’ &y 3 Y9

ﬂﬁSﬁﬁ_ﬁ?ﬂﬁﬁﬁWW%ﬁr!ﬁ QT TG #IT S0 @ 39 e 10 fvE @g 4y o oy

(a) 449 (b) 99N (c) 49N (d) 944N
AT (0) ; f = 2= = 80; P =m(g+1 =5 (9.8 +80) = 449

5N, 7N @R 8N Ty I I8 TR firat St Sy 32 F90e 8N 932 SN IoRER TY_O! (it 3
(a) 30° (b) 60° (c) 90° (d) 120°

FAAYF: (d); 72 =82+ 52+ 2.85cos0 Or,49 = 64 + 25+ 80cos O
Or,cosB = —= = cos ™ 120° . § = 120°
TR camis-a3 W 2@w: f: Inx dx
(a) -1 (b) 0 (c)e (@1
ST (d); [ In xdx = Inx [ dx — [ dx = [ {=- (nx) J dx} dx

=:dnx-—_fG.x)dx=x’nx—fdx=xlnx-—x

" _I'Elnxdx=[xlnx—-x'§=E-—E—0+1=1. [ﬁﬁ"lt‘ﬁ'{ﬁfflnxdx @9l Inx 9 x > 0]

HToe AMiS-93 TN T3 f” e
(a)v2 -2 b)2—+2 (c)1—+2 dvV2-1
A (b) ; [ ::_:LT / ;ﬂzi:x dx = [sec?xdx — [ secx tanx dx = tanx — secx
A 11__::::=[tanx—secx]g =1-vV2+1=2-+2
cos 3x-99 n-OF HIAE JAR 43
(a) 3™ sin (% + Bx) (b) 3" cos (% — 3:-:) (c) 3" sin (? - 3}:) (d) 3" cos (-mz—jrt + 3}-:)

AAHE: (d) ; ¥y = cos 3x; y, = —3sin3x; y, = —3%cos 3x; y; = 3%sin3x ..y, = 3"cos (“2—“-}- 31{).

. eX4e™%-2
Lim——
x—+0 X

=7

(a) 2 (b)1 (c) -2 (d)-1
TAGA: (6) 5 Lt i Tl Lt e *e" [Lahospital A FCH] = 1

ZX

1015Hz 1% q32 0.3 pm wmw 1 AfSHITET Y 1 9T T47 7oy TR G2 ST 1.5 ofoaiEs
YT 2 @ 203 T ©IF (M) IS 72

(a) 0.133 pm (b) 0.2um (c) 0.45um (d) 0.67pm
g . _ ) _ %A _1x3
A (b) ; Ay = PAs - Ay _’—L!Hz—i_ — = 0.2

G5 AT AT AR T4 A +x T 104 2[iRe 7= @b +x s 0.1T Glgs cra @t A
AR 07 Tom IteTa T ¢ fas 772

(a) 0.1N, 4+x direction (b) 0.1N, 4y direction (¢) 0.1N, +z direction (d) Zero force

ANY: (d) ; F = [¥Bsin® = 10x0.1xsin0° = 0

(I SN FICATRIRD CHCETH W CTRARTART CHETd T (A 10° @t 2R?

(a) —27.5°C (b) —27.5°F (c) 27.5°C (d) 27.5°F

W (H.) ’__ - _—E m ‘;:_ X+10-32 v = __27,:5:'{:
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22. B fom s w1t @ sret fom o ot
“TE- (T W, BT 2 7 T T

4
(a) & Pz P1 [
z ®) © ez @ Je,
- —— 1 -
TN (d) P = Zpe? . pyCF = p,CF =St = E
23. AT IFTR QG e 11 w3 97 fimagi 3 o 2iem oot | 7aba B vo7
(a) 8.485x10%ms—? (b) 2.828x10°ms ™2 (c) 0.353x10%°ms™1 (d) 9x10%ms™?
FANF: (b) ; me? = 3m,c2 = m"vi =3m,=>1-— :—: = -E- V= Ecz'l = 2.828x10%°ms™?
&
*24. 93 3 e 0°C Srommry 3.2x105erg cm—2s~1 = i e v@1 Forwrg 95 997
(a) 5.761x10 °erg em™2s~1K~* (b) 0.11172x10 %erg cm™2s~1K™*
(c) 3.2x107erg cm™2s™1 (d) None of the above
o _ E  3.2x10° - —2 —]yp—
TN (2); E=0T* /. o= ™ Tt 5.761x10 %erg cm™2s~1K™*
25. 95 o Y {2 9o =i fSox f 11 ot axites 5% vlemt 30 iR AfeeimIRbIEy eieamy
A F© AT G JIZT FA0S 7?7
(a) 502 (b) 5KQ (c) 0.2Q (d) 23.77

|
FAA: (a) ; £ = Gis —:'13.:. = —— =475 + 55 = 1005.=> 955 = 475 .. § = 5Q

26. 10°Nm™2 G T 9B ©IEE 10~ m Ay & W06 | SrRba 332 TAE 367
(a) 10°Nm™* (b) 107121Nm™2 (c) 101*1Nm™2 (d) 107°Nm™2

T () 5 ¥ = oo = o5 = 101Nm 2

27. qfb & SFen M ARG e 35927 I <iife @e-Rre (273.16K) 519 19.5kPa W3R o 17¢ [re
519 13.94kPa 2NSTT 51 | ©F IATA SNl F672

(2) 195.274K (b) 14.723K (c) 0.995K (d) 382.110K

AL (a) ; T = %&xz’?&lﬁ = 195.274K

28. (T 4IO] ST SICAF-Of%R b 72 o9y 33041 BF Ot 11004 T e WS 1) Seifes xet Moo

(3% =) FOIREFER AEMH & F7?
(a) 1.0eV (b) 2.0eV
(c) 7.5eV (d) no photoelectron is emitted

TYE: d) ; f, = £= 0.09x10'5Hz

f = E = 2.72x10%°Hz So, no emission of electron

» f < f, .. no emision of electron (CFI9 BreRae e =@ =)

Another Process, here, Amay = 330A A > Amay
29. TS BIoTETEE 27 @ ¢t PR AR FAFTT 400 G2 20001 1000V @ (et FEATS 2Ate =y 12kW A

IR FEATS ST -

(a) 200V (b) 300V . (c) 400V (d) 500V

Ep Np 400 400 _
FATYI: (a) ;E—: = H—: =— ~Ep= —og %1000 = 200V




30.

31.

33.

*34.

33.

*36.

37.

38.

39.

40.

[

e ¥ A 9 B aﬁwmﬁ%ﬂwwaﬂ Bmmﬁrmr-ﬁﬁﬂw 2.0x108ms™! @3e
2.5x10%ms=! | SITERS A TUT A LF B FIYITH A I O (A AT (@I &Y [Hremste Sieens af#m o

SSrEAt ST 9T, ot 2 -

(a) sin™* (2) (b) sin~* (2) (¢) sin™ (%) @ sin™ (3)

HANIYIA: (c) ; smEl-—B——--::—“——:»E}'—sm'l() |

3w R =Niffw B cotemm wirem e e 7w I T @ S0 QoI Fc- [Ans: a]
(a) Tasgaet OELESE (c) TIFSBIE (d) oSS

T +2C R +6C 57 51 12N 3071 Fiel e 7 —4C BTt 2ifSfb SRS S 41 Z, O 9o -

(a) 4N repulsive (b) 4N attractive (c) 8N repulsive (d) 8N attractive

SN (b); I AW (—ve) .. attractive
R =t W v @32 T-ojrda AR 30° @ITt @6 TI0CT HCFH T M1 TPTOA @ F© 7T W06 R
ST I Sfoey FA0e AME?

(2) 11.2Kms ™! (b) %22.41{:115-1 (c) 22.4Kms™? (d) 5.6Kms™1

HAOHIA: (c); vxcos60° =112 .. v=224
I ABEFY At A2 o il a3l @GR S00Hz FITFT =19 B 1 *tHd WS 340 ms™! 2, 10ms™

et Grd Mt MITS SRR A9 @F IS @ TI% © SF7 (RT3 *% SH0e AiE of -
(a) 500Hz, 0.70m (b) 500Hz, 0.68m (c) 486Hz, 0.70m (d) 515Hz, 0.68m

TA: (d) 3 £ = x500 = 515 - A =2 = 0,68
@R IE 9 fE7 Fretss foote el siwe s i 1 T. 3 o £ gart B Sirs s otz
TSI -
V3 T T
(2) V3T ®) ST ©) 7 @2

B2 Ty

ww:tb);:_:z o 0% E= { “R=FT
3

GFE e 50cm FFET @F g AR orits A 91 R 25cm w@eg s (rice ol v9 wHee @™

LA FACS F(3?

(a) +2D (b) —2D (c) +0.5D (d) —0.5D

TAGA: (2) ; P = — + — = 42D.

I SR @it S =i ot qeB fapfs woim?

(2) T ST 4ifS b) Faea TefE e ()@ ERed  (d) 76 SR S
A () ; TR WHIRET e itR sHfeergs Ruan

Fom @F ~rweE FEEY *IE SwEw w@i<orET bm R ooy 2@ 912

@1 1Y M o) AW Ay Ay © du 1Y iy ) @AW MY Ay Yl
FARY: (c) ; ,9,¢ T B T S0 AL i #A1H |

FANEAEZIRE (CH,0) aF T “[1re Faa @H 7a SRRoEL 99209 A0R?

(a) sp (b) sp? (c) sp? (d) d?sp?

TAYE: (b); )C =0 B 1 37 ©IF sp?

PH; 93 oI NH, ©% ©itsl (FITB, I NH;- [Ans: d]
(a) 7= Scifqd ey faf<e (b) fazsirer =& ewms st

(c) O 5 et [_fHE (d) RRGITEH IF7 & I

AfA4STHa SSIH HAYT “dGeT,..




41.

42.

43.

45.

46.

47.

48.

49.

50.

ﬁmmmm mﬁﬁﬁm.ﬁéﬁqmw cﬁ’ramv |

(2) K (3T & 9%) SToTa 978 (b) K 97 T SIS 1.0

(c) K. TO18 & (d) I BT /A

FTAYI: (d); K 99 W7 1ee Rfsram sifes s @3

R - 77 93 Qe T am wpififes St [Ans: d]
(a) 319 (AR (b) Ffr1g (c) BOIT=GrT (d) STBICRGI

24 RS oy R @i aeib i@ @9 Seom Faa? [A] e Ol 93R A AT

(a) [A]vst (b) In[Alvs t (c) = vst (d) Intvs [A]

[A]

FIY: (b); We know, kt = In [;:‘;] = kt = In[A,] — In[A] = In[A] = —kt + In[A,];

y = mX + ¢ Gq AN 9] T |

e Pt Rfermreriz iy @l Reda-Goe «iefe i #fifts? [Ans: c]
Ni/Pt Zn/Cu0

(a) CzHs + H, — C;Hq (b) CO + H,0 —— CO; + H,

() BCO + 17H, e 4 8H,0 (d) CO + 3H, —> CH, + H,0

i e 3o smieds Bw sfemE gEe?

@FTOEFRE IS (b) T wwfAe bt (c) &% Tfat @E (d) % B T7Y

ST (d) ; BIET Ty T© @ 20 95 *fere ©o @ff 201 T SeE T% |

T I T 0.2 I HA AP Gfie (pKa = 4.8) @3 0.02 GTE GfTEH GTIRGI 7 SITRI @ pH
T2

(a) 2.8 (b) 3.8 (c) 4.8 (d) 5.5

0.02

AqH: (b) ; pH = 48+lng—-—38

YT SCACCIZRAE AR T A FALES A K-
(2) SIS © 2 FFH T

(b) W FI4FTe BRIET @ *BIfFR STeRs R+

(c) =TI FFA, AT 8 SeHifen FFF I

(d) STot SR T ¢ FAR (1) WAeiRS R I3

Reflux

S (¢) : 2P + 31, = 2Pl3 ; Ply +3CH;0H —— CHj + H3PO;,
A6 I AoF Sl TATd?
(a) Cr,0%2~ 4+ H* + Fe?* - 2Cr°* + H,0 + Fe3*
(b) Cr,0%2~ + 14H* + Fe** - 2Cr** + 7H,0 + Fe3*
(c) Cr,02~ + 14H* + 6Fe?* - 2Cr** + 7H,0 + 6Fe’t
(d) Cr,0%2~ + 10H* + 6Fe** - 2Cr3* + 5H,0 + Fe?*
FAYE: () ; 1 mol Cr,057 - 2Cr3* 610 e 9=
Amol Fe?* — Fe3t 116 e

- 1mol Cr,02~ = 6molFe**
feos et teif ST ?
(a) CHyCH,CH,CH,0H  (b) (COzH)2 (c) (CH;),CHOH (d) CH;CH(OH)CH,CH3
SIGIA: (d) ; DIZAT FIEARE ol SIF e
T YR R STy SR Ceeiiae-2 (ITF 1, 2-SREIIAAR ege T4 <07 [Ans: d]
(a) WRLCTA o QZEGIENROET (b) TSR =17 QRUGTRF
(c) TEGERFIETE #9 AL (d) FReFa -9 o= STgearem

sifaord AT WIFT *M4b+l...



S2.

S3.

54.

55.

56.

57.

58.

59.

60.

(a) IS (b) ©fte care (c) AHT TS (d) oIz et
AYLR: (d) ; off ST, > Sfbewrd, s e st

AR m weefBa pH W @7

(a) 0.01 M HC) (b) 0,01 M HNO, (c) 0.01 M HCIO, (d) 0.01 M CH; — COOH
Y (d) ; @R TNaE gEees afed pH a9 T &R

I T WS I @I 109.5° [ =T 104° ROTR Fad

(a) bond pair-bond pair FFEe (b) bond pair-lone pair e hd

(c) lone pair-lone pair {94 (d) 90 QRGITER RS TFia e
AW () ; VSEPR ©G TS Ip — Ip > Ip — bp > bp — bp A4

50gm “IHAN @IE0TE $u8 T A SIS NTP (S STed 343

(a) 13.70L (b) 15.50L (c) 11.70L (d) 10.80L

SR () ; 2mol KCI0; = 3 mol 0, ... 245.1 gm KCIO; = 3x22.4L 0, -

= 50 gm KCI0; = 2= = 13710,

Read the following passage and answer the question numbers 55 — 58 that follow:
A Japanese construction company plans to build a huge independent city-state, akin to the legendary Atlantis, in the
middle of the Pacific Ocean. The city, dubbed “Marin nation” would have about one million inhabitants, two airports,

and possibly even a spaceport. Marin nation, if built, would be a separate country but could serve as a home for
international organizations such as the United Nations and the World Bank.

Aside from the many political and social problems that would have to be solved, the engineering task envisaged is
monumental. The initial stage requires the building of a circular dam 18 miles in diameter attached to the seabed in a
relatively shallow place in international waters. Then, several hundred pumps, operating for more than a year, would
suck out the seawater from within the dam. When empty and dry, the area would have a city constructed on it. The
actual land would be about 300 feet below sea level. Accurding to designers, the hardest task from an engineering
point of view would be to ensure that the dam in leak proof and earthquake proof.

If all goes well, it is hoped that Marin nation could be ready for habitation at the end of the second decade of the

twenty-first century. Whether anyone would want to live in such an isolated and artificial community, however, will
remain an open question until that time.

What kind of city will Marin nation be? [Ans : d]
(a) Underwater (b) Underground (c) Legendary (d) Marine
What does the passage mainly discuss? [Ans : c]

(a) The construction of independent city state

(b) The uses of a city like Marin nation

(¢) The engineering feats needed for building an oceanic city
(d) The inhabitants of a city built in the ocean

The problems of Marin nation focused on here are mainly- [Ans : a]
(2) Engineering (b) Human (c) Social (d) Political
What is the synonym of the word “akin” used in the first paragraph of the passage? [Ans : c]
(a) Dissimilar (b) Peculiar (c) Similar (d) Familiar

Fill in the corresponding lettered space to choose the appropriate idiomatic expressions for the following
blanks.

After I have studied and learned all I can, I have to take the test and........ [:‘:3-1'1.S :c]
(2) null and void (b) sleep in (c) sink or swim (d) rant and rave
I finally found the right key after lots of...... [Ans: c]

(a) ups and downs (b) wild fire (c) trial or error (d) hue and cry




